. . . . 132X+
Which expression is equivalent to 3(3)" ?

(A) 12X+1
(B) 3—21’
(C) 3731:+2
(D) 9731’71

2

Simplify: (3 — k’l)

A 99—
6, 1
(B) 9-F+ =3
(©)  9+6k+i’
D)  3+%
. - . (3?%3) 3211 )2
What 1s simplified form of ~—>—-7
32
(A) 3—4?}—4
(B) 373}1+4
(C) 33?’:74
(D) 33?{—2

I I e P
Solve: (m™ —n .

(A)

m'n’
(B) m—n
2 2
mn
C
© n’=2mn+m’
1 |
D) -
m-n

. . . —5
Which 1s equivalent to 2(§)x ?

@ 1
® 27
(C) 2—.\'+6

(D) 4—.\'+5



Simplify: (Za -37 )2

(A)
B)
©)
D)

4a* +36a+81
4a’ — L
da’> —2a+L

2

3 36
2_4 1
da” —ga+

. : . - 1 x+6
Which expression 1s equivalent to ¢ (2) 2

(A)
(B)
©
D)

Simplhify: (x_l +27 )_ i

(A)

®)

©
(D)

What 1s the simplified form of

(A)
B)
©
D)

2.\'—»—3
2,\'+9
23x+1 8

2731—18

1

x+2
2x
2x
x+2
x+2
x—2

5(167)(125°) )

a

57410
510a. 2a
590+l.2ﬂ

9a+1 Ta
572



10.

11.

12.

Simplify: (30 +a’ )7 ’

(A)

(B)

©)
D)

2

a’

a +2a+1

1+da’

) . 9J(+2
What 1s the simplest form of ‘,T -(125”2) ?
257

(4)
(B)
©)
(D)

3x+1 . 52x+1
3x+1 . 54.‘61-1

3x+2 . Sx+5

3x+2 . 55x+5

Simplify: (o™ +57)".

(A)
B)

©

D)

a* + b
a’+2ab+b’
a’b’
a’+2ab+b*

a’+2ab+b*
aEbE



Answers
1.B
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